
Installation Instructions  Versa-Steel, Inc. 
MODEL VSTI-E030  503-287-9822 

1  August 4, 2011 
 

Tank Indicator Installation 

Model:  VSTI-E030, Stainless Direct Read System  

                                        



Installation Instructions  Versa-Steel, Inc. 
MODEL VSTI-E030  503-287-9822 

2  August 4, 2011 
 

 

 

 

 

 

 

 

 

 

 

 

 ITEM PART NUMBER DESCRIPTION 

1 1000006 1" UNION 

2 1000010 1" X 3" THREADED PIPE NIPPLE 

3 1000067 1" X 24" THREAD PIPE NIPPLE 

4 1000068 TANK BRACKET 

5 

 

FLOAT CABLE 

6 1000720-01 WEIGHTED PLATE 

7 

 

5/16" HEX HEAD BOLT 

8 

 

10-32 x Ĳó PHILLIP PAN SCREW 

9 

 

5/16" FLAT WASHER 

10 

 

5/16ó LOCK WASHER 

11 

 

5/16" HEX NUT 

12 

 

#10 INTERNAL TOOTH LOCK WASHER 

13 1001201-5 STAFF GAUGE BOARD 5õ 

14 1001203 THREADED SOCKET INSERT 

15 1001204 SHORT T-SLOT NUT 

16 1001207 LONG T-SLOT NUT 

17 1001208-01 FLOAT 

18 1001209 COUNTER WEIGHT 

19 1001241 UNIVERSAL MOUNTING BRACKET 

20 1001242 TARGET 

21 

 

¼-20 x ĳó SET SCREW CUP POINT 

22 1001410 12ó GUIDE WIRE 

23 7000006 WIRE ROPE CLAMP 

24 7000019 SHEAVE HOUSING 

25 7000478 CABLE TENSION ASSEMBLY 

26 7000631 END SHEAVE ASSEMBLY 



Installation Instructions  Versa-Steel, Inc. 
MODEL VSTI-E030  503-287-9822 

3  August 4, 2011 
 

 

There are different ways to assemble & mount the Staff Gauge Boards to the tank.  The method chosen 

 largely depends on these factors: 

a. The height of the tank 

b. The equipment available 

c. Whether or not you are able to mount the Tank Brackets directly to the tank  

 

STEP A - Deciding How to Mount Staff Gauge Boards 

 

¶ Option A (Mounting to Tank): 

If field conditions permit, mount the Tank Brackets directly to the tank wall.  We recommend 

ǘƘŀǘ ǘŀƴƪǎ ƻǾŜǊ мнΩ ǘŀƭƭ ōŜ ŘƻƴŜ ƛƴ ǎŜŎǘƛƻƴǎ ǘƻ ǇǊŜǾŜƴǘ ōƻǿƛƴƎ.  Mount each individual Staff Gauge 

Board to each bracket assembly ς One bracket, then one Staff Gauge Board, next bracket, etc.  This 

will be described in more detail later on in the instruction manual.  Make sure that the Staff Gauge 

Board at the tank fƭƻƻǊ ƛǎ сέ ƻŦŦ ǘƘŜ ƎǊƻǳƴŘΦ   

 

 
 

 

¶ Option B (Mounting to Customer Supplied Channel): 

If unable to mount brackets directly to the tank, the Staff Gauge Board can be mounted to a 

ǎǳǇǇƻǊǘ ŎƘŀƴƴŜƭ ŦƛǊǎǘΦ  ¢Ƙƛǎ ŎƘŀƴƴŜƭ ƛǎ ǎǳǇǇƭƛŜŘ ōȅ ǘƘŜ ŎǳǎǘƻƳŜǊΣ ŀƴŘ ǎƘƻǳƭŘ ōŜ ŀǘ ƭŜŀǎǘ рέ ǿƛŘŜ ŀƴŘ 

as tall as the tank in order to sufficiently support Staff Gauge Board assembly.  Once all components 

of the Staff Gauge Board assembly have been mounted to the channel, the entire assembly can be 

raised to be parallel with the tank wall.  It will be up to the customer to decide how to support the 

channel to the tank wall and fastened to the ground. Make sure that the Staff Gauge Board at the 

ǘŀƴƪ ŦƭƻƻǊ ƛǎ сέ ƻŦŦ ǘƘŜ ƎǊƻǳƴŘΦ (Refer to Diagram 1A)  

сέ !ƭƭƻǿŀōƭŜ 

Clearance 

Ground level 

Diagram 1A 



Installation Instructions  Versa-Steel, Inc. 
MODEL VSTI-E030  503-287-9822 

4  August 4, 2011 
 

 

STEP B - Assemble Staff Gauge Boards 

1. Each Staff Gauge Board comes with a vinyl decal displaying height values.  Lay the boards on a flat 

surface in the correct order/orientation. 

 

2. Install the bottom bracket assembly to the bottom Staff Gauge Board using the following parts: (1) 

¢ŀƴƪ .ǊŀŎƪŜǘΣ όмύ ¦ƴƛǾŜǊǎŀƭ aƻǳƴǘƛƴƎ .ǊŀŎƪŜǘΣ όнύ рκмсέ IŜȄ IŜŀŘ .ƻƭǘǎΣ όпύ рκмсέ Cƭŀǘ ²ŀǎƘŜǊǎΣ όнύ 

рκмсέ [ƻŎƪ ²ŀǎƘŜǊǎΣ όнύ рκмсέ IŜȄ bǳǘǎΣ όнύ {ƘƻǊǘ ¢-Slot Nuts, and (2) 10-онȄмκнέ tƘƛƭƭƛǇǎ tŀƴ 

Screws.  aŀƪŜ ǎǳǊŜ ǘƘŀǘ ǘƘŜ {ǘŀŦŦ DŀǳƎŜ .ƻŀǊŘ ŀǘ ǘƘŜ ǘŀƴƪ ŦƭƻƻǊ ƛǎ сέ ƻŦŦ ǘƘŜ ƎǊƻǳƴŘΦ  (Refer to 

Diagram 1A)    

 

3. Trim the top Staff Gauge Board as necessary to fit to the height of your tank.   

 

 

 

 

 

 

                          

 

 

 

 

 

 

 

 

 

 

 

 

 

 

10-онȄмκнέ 

Phillips Pan 

Screw 
Short T-Slot Nut 

1001204 

Universal 

Mounting Bracket 

1001241 

Staff Gauge Board 

1001201-5 

Tank Bracket 

1000068 

рκмсέ IŜȄ 

Head Bolt 



Installation Instructions  Versa-Steel, Inc. 
MODEL VSTI-E030  503-287-9822 

5  August 4, 2011 
 

 

4. Configure and install the connector bracket assembly using the following parts: (1) Tank Bracket, (1) 

¦ƴƛǾŜǊǎŀƭ aƻǳƴǘƛƴƎ .ǊŀŎƪŜǘΣ όнύ рκмсέ IŜȄ IŜŀŘ .ƻƭǘǎΣ όпύ рκмсέ Cƭŀǘ ²ŀǎƘŜǊǎΣ όнύ рκмсέ [ƻŎƪ 

²ŀǎƘŜǊǎΣ όнύ рκмсέ IŜȄ bǳǘǎΣ όнύ [ƻƴg T-Slot Nuts, (8) ¼-нлȄмκпέ {Ŝǘ {ŎǊŜǿǎΣ ŀƴŘ όнύ мл-онȄмκнέ 

Phillips Pan Screws. 

Connector Bracket Assembly 

 

                          

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5. Install the top bracket assembly approximately 12έ ōŜƭƻǿ ǘƘŜ ǘƻǇ ƻŦ ǘƘŜ Staff Gauge Board near the 

roof of the tank using the following parts: (1) Tank Bracket, (1) Universal Mounting Bracket, (2) 

рκмсέ IŜȄ IŜŀŘ .ƻƭǘǎΣ όпύ рκмсέ Cƭŀǘ ²ŀǎƘŜǊǎΣ όнύ рκмсέ [ƻŎƪ ²ŀǎƘŜǊǎΣ όнύ рκмсέ IŜȄ bǳǘǎΣ όнύ Short 

T-Slot Nuts, and (2) 10-онȄмκнέ tƘƛƭƭƛǇǎ tŀƴ {ŎǊŜǿǎΦ  

6. Make sure that the End Sheave Assembly is attached to the top board (Closest to Tank Roof). 

 

 

 

 

 

Long T-Slot Nut 

1001207 

10-онȄмκнέ 

Phillips Pan 

Screw 

рκмсέ IŜȄ 

Head Bolt 



Installation Instructions  Versa-Steel, Inc. 
MODEL VSTI-E030  503-287-9822 

6  August 4, 2011 
 

 

COUNTER WEIGHT Assembly NEEDED OR DIFFERENT ORDER? 

 

1. Attach the Wire Rope Clamp with the мκмсέ ŎŀōƭŜ to the Target. 

2. Slide the Target with attached Wire Rope Clamp ŀƴŘ мκмсέ ŎŀōƭŜ into the left 

side insert of the Staff Gauge Board (This will be the side that has a strip of decal 

removed the full length of the Staff Gauge Board). 

3. Temporarily tape or tie the Target to the Staff Gauge Board so that it will not 

fall to the ground. 

4. Keep cable rolled up and hang from the right corner of the Staff Gauge Board 

for now.  You will be instructed on further installation of the Float Cable in more 

detail later. 

 

 

 

 

Threaded Socket Insert Assembly 

1. Now that the Staff Gauge Board is attached to the tank slide the Threaded Socket Insert into the 

right side (view from front) socket on the top Staff Gauge Board.  Secure with (2) ¼-нлȄмκпέ {Ŝǘ 

Screws. 

                                                                         

Back View 
Front View 



Installation Instructions  Versa-Steel, Inc. 
MODEL VSTI-E030  503-287-9822 

7  August 4, 2011 
 

        

STEP C - Reeving Assembly 

 

 

 

  

Note: Positioning of the Reeving Assembly is important because it is used to determine the exact point of 

penetration for ǘƘŜ мέ bPT Coupling, where the Reeving Assembly meets the roof of the tank.  The Staff 

Gauge Board is mounted to the outside of the tank wall, and the Reeving Assembly directs the Float 

Cable from the Staff Gauge Board over and through the roof of the tank. 

1. ¦ǎƛƴƎ ǘƘŜ ǘǿƻ {ƘŜŀǾŜ IƻǳǎƛƴƎǎΣ ŀǎǎŜƳōƭŜ ǘƘŜ мέ Ȅ нпέ ¢ƘǊŜŀŘŜŘ tƛǇŜ bƛǇǇƭŜΣ мέ ¦ƴƛƻƴǎΣ ŀƴŘ мέ Ȅ оέ 
Threaded Pipe Nipples as shown above. 

 
2. One end of the Reeving Assembly is attached to the Threaded Socket Insert.  The other end 

connects to the customer-ǇǊƻǾƛŘŜŘ мέbt¢ /ƻǳǇƭƛƴƎΣ ƭƻŎŀǘŜŘ ƻƴ ǘƘŜ ǊƻƻŦ ƻŦ ǘƘŜ ǘŀƴƪΦ 
   

3. Placement of the Reeving Assembly should mark exactly where the cable meets the tank.  It can be 
ŀŘƧǳǎǘŜŘ ǿƘŜƴ ƴŜŎŜǎǎŀǊȅ ōȅ ŀŘŘƛƴƎ ƻǊ ǊŜƳƻǾƛƴƎ ƭŜƴƎǘƘ ǘƻ ǘƘŜ мέ bt¢ ƴƛǇǇƭŜǎΦ  

 
4. Disassemble the Reeving Assembly to seal all its pipe joints.   

 
5. Reassemble the Reeving Assembly onto the tank. 

 
6. The two Cable Tension Assemblies can now be installed at the roof of the tank.  The Float Guide 

Cable will be installed in a later step. 
 

 

Sheave Housing 

7000019 
мέ ¦ƴƛƻƴ 

1000006 

мέ Ȅ оέ ¢ƘǊŜŀŘŜŘ 

Pipe Nipple 

1000010 

мέ Ȅ нпέ ¢ƘǊŜŀŘŜŘ 

Pipe Nipple 

1000067 


